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1. BEEBEOE
(1) BRI

THMASE
ZMASE 50, 000 50, 000

o)L=
THESE 1,728,000 1,728,000
HASE 9,002, 100 7,997,900 17, 000, 000

EEINGE
EFUNE 85, 000, 000 85, 000, 000

MU
ZEF R 100 100
HUN I 0 0

A 94,002, 100 9,776, 000 103, 778, 100
(2) BEER

BxE
% B REN 600, 000 600, 000
HBHEFY 3, 690, 000 3,690, 000
BB E A 380, 000 380, 000
55| H4eBA 10, 000 10, 000
BHELEE 600, 000 600, 000
RERXEE 800, 000 800, 000
BIEEWHRE 30, 000 30, 000
BRE 100, 000 100, 000
BAMENE 0 0
E£HNEE 85, 000, 000 85, 000, 000
HELE 10, 000 10, 000
BiEE 0 0
ENRI 8 A & 50, 000 50, 000
SEIK B 249, 000 249. 000
e 50, 000 50, 000
EEH 300, 000 300, 000
EJE ! 100, 000 100, 000
MABRAE 1, 300, 000 1, 300, 000
MRRE 720, 000 720, 000
HE 13,100 13,100

EEE
1% B $REN 1,200, 000 1,200, 000
HBHEFY 2, 460, 000 2, 460, 000
BESE R 260, 000 260, 000
EE55I L&A 10, 000 10, 000
BHELEE 400, 000 400, 000
=i 50, 000 50, 000
RERXAEE 600, 000 600, 000
BIEEWE 300, 000 300, 000
BmE A 0 0
HERE 150, 000 150, 000
BEE 300, 000 300, 000
ENRI S A% 50, 000 50, 000
SR H B 166, 000 166, 000
S 750, 000 750, 000
R 150, 000 150, 000
b LA 300, 000 300, 000
=Eizk o 700, 000 700, 000
TIFE 400, 000 400, 000
BERE 100, 000 100, 000
MRRE 480, 000 480, 000
Sk ! 800, 000 800, 000
HE 150, 000 150, 000

BEER 94,002, 100 9,776, 000 103, 778, 100
LR E R 0 0 0
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